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We cannot expect too much of him. After all, he is only a child.

TREE RIS KT o 25 0 BN A - BFEE -
This mathematics problem is too hard for him. After all, he is only a student.
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I am not able to do this job.
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He is not able to swim.
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None of them is able to lift such a heavy thing.
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We make sure that all of them are able to speak English.
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I do not know who he is.

AR G fe AR K o

I do not know where he is from.

A A A b o

I am looking for my umbrella.
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I am looking after my mother who is quite ill.



